Ch 4.3 Binomial Probability Distributions

Have to have the following criteria:

1. fixed number of trials

2. trials are independent

3. each trial must have all outcomes classified
into 2 categories.

4. probability must remain constant.
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Try#1. Find the probability 8 out of 10 kids pass the
exam if the probability of passing is 95%.

.074
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Ex1c) At least one tire is defective?

1 - (no defects)’

1-(sCo x (1/5)° x (4/5)°)
67232
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Try#2. You have 4 batteries and you know two
of the 4 batteries are bad, but don't know which
two. If you need to select 3 batteries for your
controller, what is the probability you will get at
least 2 good batteries?

.625
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